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ad the following paragraph and snswer

the following questions : (Q. 4 and 5)
A India is marked by a diversity of physical
eatures su:;h as mountains, plateaus, plains,
coasts and islands. Standing as sentinels in the
north are the lofty snow-capped Himalayas.
Him+alaya mean ‘the abode of snow’. The
Himalayan mountains are divided into three
main parallel ranges. The northernmost is the
Great Himalaya or Himadri. The world’s highest
peaks are located in this range. Middle Himalaya
or Himachal lies to the south of Himadri. Many
popular hill stations are situated here. The
Shiwalik is the southernmost range. The
northern Indian plains lie to the south of the
Himalayas. They are generally level and flat.
These are formed by the alluvial deposits laid
down by the rivers — The Indus, The Ganga, The
B e :
lains provide fertile land for cultivation. That is
tphe ng:'l for high concentration of population

and their tributaries. These river }

B AHORYIR f Underhned wo | e e e e et
rom the g1ven options : e ned e A+ B = ¥4 &% A, BFoig

A-Bosdtfs A, Beiadd; Aun
F IR A Bwifam® 3 A x B =
54 & 5 A, B #1757 2, Frerferfian 3 8
B & 2wl & s P, Q W I R 7

If A + B means A is the mother of B;
A — B means A is the brother of B;
A % B means A is the father of B and
A x B means A is the sister of B, which

of the following shows that P is the
maternal uncle of Q 7

(A) P+SxN-Q (B) Q-N+MxP
(C) P-M+NxQ (D) Q-S%P

() e fifve gz W A, @ 4w e
R, @ Wi i B, ‘o’ '+ ol §

3R 9" < g R |
In a certain code language, ‘@’
represents '+, ‘@@’ represents -, ‘a’

represents ‘+' and "0’ represents "x’.

f=fafan s =1 T

Find out the answer to the following
question : & .

89003 100D 504D 121a 11 =2

(A) 62 (B) 58 o sot=)
(C) 205 (D) 158

8. wemHi ¥ fiu muw ¥ | vom g wE
wHifsm

Find out the wrong number in the given

sequencé 6f n o
382, Dw'!,ﬁnﬂ

in these plains. : (A) 600~—=C ~(B) 611 ©
4 Northern Indian plains are rich in _{9) 634 (D) 605
4 A) Diamond mines j
) A[luvialddcm?tir 9. 179, 1998 ! e 1 $r= a1 e o1 7
si |
e
» 1 t are located In .
S e h_lshcs What was the day of the week on
Wlﬂ Himalaya 17" June, 1998 7 ‘
) Shiwalik range (A) Wednesday  (B) Monday
:::g}) smmw & (C) Tuesday (P) Thursday
i T T
MN2 t .&muﬂwkj J:],mm
o oyensi bemey |
e el L JAANYy analire yomld

ra b



8

F—= me

98—
sl

=

e

Wk T e

mﬁﬁ;wﬁurﬁﬁ;ﬁ‘ S
%mﬁﬁm MeF e
3 WH W @ & 98

ufor 2t e % | 3% T =d
ST GO & TR T T o1 2
Recently, Shubhankar Sharma, Indian
golfer has recorded the best result at the
Open after finishing in tied-eighth position
at the Royal Liverpool Golf Club in
Merseyside, England. In which year he was

conferred the Arjuna Award ?

(A) 2020 (B) 2016

(C) 2022 (D) 2018
11. ﬁﬁqmmﬁawﬁr{mﬁam
W ¢ [ 3f 11 Fuifea & Fred fog o ¥
W e T e gt el 1 E A R,

i
E

|
2 7 | Prewet W @ ok T w T

I
II.
(A) 2f2 277 At 141 11 SET e 8 |
(B) af St Frerd 1 g S # |
D) a7 1 AR T I FATR
‘{E) uﬁ%ﬂﬂﬁﬂﬁﬂmﬁﬂtﬂmt |
a= 12 .
o ¢ question below two statements
899" fillowed by two conclusions numbered 1
coy-\\ and II are given. You have to take the
8= given two statements to be true even if
o they seem fo be at vanance

il nly known facts. Read the
SR O aions and then decide which of the
given conclusions logically follows from

s\S

' % the two given statements, disregarding
04 commonly known facts.
o Statements : All poles are guns. Some
a8 boats are not poles.
%’ Conclusions
II. Some boats ar¢ not guns
24 (A) Ieither Lor Il follows
ﬁ,_..--" T ®) If only cpnclumun ; l{:ﬂ:ws

l,'h!_____ﬁ &-—')”fi

HES)

(C) T FTEE Hiare fefes

(D) s foe fmm fafiee (sefeae
rEaE HiaRe fafies)

Which among the following Government

of India undertaken Corporation has
become the first member to join “Asia

Transition Finance Study Group”

(ATFSG)?

(A) National Housing Bank +

(B) India  Infrastructure Finance
Company Limited ok o

(C) Power Finance Corporation Limited

(D) Industrial Finance  Corporation
Limited

T weHY-2 ¥ THYA FURIE &
N, mﬁﬁ« 42024 %
fore Prfefien § & fm 3@ % 7w
Hidt 2

(A) FTTE (B) FEL
(©) Tk (D) FTET
the closing ceremony of

Startup-20 at Gurugram, India officially
handed over the torch to which among
the following countries for the year

2024 7
(A) Brazil (B) France
(C) Germany ¢#(D) Canada
e % ge  mEnin | (FNe)
ﬂ+ﬂ.wmﬁiﬁﬂhﬁﬂi
R S , Tteat, ATt W
A tmaa‘ia wm;u ?yEay % g
TN HIE- ARG -9 T A

1C 15 . 1
O s (1) DY Chanirache
Eat allows &v g iti citizens

e-passes

enter in the Supreme Court of India ? =
(A) g™ / SuPranam
(B) / SuAbhivadan
(C) g1 / SuSatkar

(D) §¥TTaH / SuSwagatam
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mﬁﬁqwe“mﬂﬁfua s
WQWW(NCAP)W
| NCAP %1 yof & 7 |
(A) S FR Tt Wrewm
(B) SR sz Mewm
(C) AHR 31wz ey
(D) = #R @i s

Recently, Union Minister of Road
Transpcrrt and Highways Shri Nitin
('J’fadlkan launched the Bharat NCAP
aiming  to enhance road safety by
elevating vehicle safety standards for up

to 3.5-tonne vehicles in India. Give full
form of NCAP.

(A) New Car Acknowledge Production I
(B) New Car Assessment Production l
(&Y New Car Assessment Portal

(D) New Car Assessment Programme

e i R M e R e
=TR ) 100 fferas Sier 7% wgn & foe
T~ STRRERT 2T B e < T R 2

(A) R fagm (B) & |
(D) 3

19.

" Ny
“Hm g AT Rd @ e
# | g T/ FHgnfia weun § e 22

i e | RAERITE

(A) Tafawn [SEALC
(C)) 3rH D) A A FHIAN
“Maenam Wildlife Sanctuary” is situated in
which of the following State/UTs of India ?
A; Sikkim B) Ladakh
EC :;é‘?ss?n% &:3 Jammu & Kashmir
ey ‘ Et @rEet w8
AT | #gmmwa?
(A) 318E % Feter ad 1§ 01 S H1 23
s Qe g gt st g0 ad A wm & |
(B) 3TaeA % Fevgy ad # 01 St H 21
T q o e & aft 60 FF A FH A |
(C) HTHEH & Feist a9 § 0] F=atl @i 18
a9 R feru g s s ad A wm i |

(D) ATEEA & Feisay § 01 F=at i 21
TR o a srsgadawa# |

What is the age limit for females in
“Mukhyamantri Ladli Behna Yojana™
implemented in Madhya Pradesh ?

(AE Must have completed 23 years as on

01 January in the calendar year of

1ag[::lir:::aﬂ:i::m and less than 60 years.
~A(B)

ust have completed 21 ter as on

401 January in the calendar year of
-application and less than 60 years.

(C) Must have completed 18 years as on

01 January in the calendar year of
application and less than 65 years.

(D) l\gust have completed 21 years as on

01 January in the calendar year of

application and less than 58 years.

(£ e 20. Hrara 1ea | 3y % g "%
Indu—UStaskforcchasbeensetlm_tﬂ PMI o ufSmn e | TE
elevate trade in which of the following a3 fm IR & e
gector to $100 billion in next decade ? ﬂ‘ﬂﬁﬁm‘wmm'!?
(A) Computer Science~ (A) WS (B% ‘Eﬁgécl){ ﬂa?)bﬂ i
(B) Medicine N Asia Award for “Miéro Project of
(C) Electronics the Year”. This E"fﬂ_]ECt 1S Instruction
(D) Space Detection System” to save life of which
aqaR T’ of the fullnmn& animals ? .
@ ﬁqﬂﬂﬂﬂﬂ?ﬁﬂzmm (A)sgegp (B nat(%].‘.‘(olghg))gl t
ST ? (40 -
fom e e HGE @D T FA G IE Y Y AN
(A) L% (B) SR F AR | .
il (D) .5 Name the annual ftraining exercise
© treatment embarked by Western Air Command of
World’s first 7-min te cm;‘-’ e Indian Air Force (IAF) recently. .
ab” to be rolled out in Which €9 (A) &4 /Tandav (B) Fafeeh/Swastik
(A) UAE. ) EﬂE‘:" (C) B / Trishul (D) ¥ / Shankh
(C) China (D) US.A. e e —— -
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24.
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v Sl T e —
g 1 @ fre A R R ?
(A) s, W SR ) g, wAieh

(C) TR, e (D) TS, R

The headquarters of “Central Institute of
Indian Languages” is situated at which
of the following places 7

(A) Bhopal, Madhya Pradesh
(B) Mysuru, Karnataka

(C) Manesar, Gurgaon

(D) Mumbai, Maharashtra

ﬁﬁwm%mﬂﬁzrﬂaﬁf&mﬁw

ﬂﬁt",ﬁﬁaﬁzmlﬁiﬁw‘lﬁwuﬁm
e OiNG e T 91, SEE Fmtor

(A) T ) FEEd
fc:] HEHAd (D) &S
‘Ramappa_Temple located in P;iwmnpet

year 2021, had been built during the rule of
which of the following dynasties ?

(A) Vijayanagara (B) Musunuri

(C) Kakatiyan (D) Bahmani

e HY & woEeE 3t I aiE 6
fafes v & | & & &
gafa g 6 i 2 |

The Prime Minister and the other
Ministers of the Indian Union are
appointed by the President under

of the Constitution of India.

(A) FF/ Article 70 (B) 7%/ Article 73

© S/ Article 75(D) 372/ Article 72
' WTE ﬁ:mﬁﬁ%ﬁﬂfhu 5 ﬂi&(hg

U T S G FTEEH

nﬂémm-uﬁmmt?

(A) A

) e

(C) FemT (D) 3y v
“Koothu” is a socio-religious art

in Koothambalam temple in which of the
following State/UTs of India ?

(A) Kerala (B) Sikkim

(C) Telangana (D) Andhra Pradesh

26.

29.

30.

werarer e (D)wnrk of epic

“perungadai” 18 B WOIL L ngs to
rtion by Kon Velir. It :
m of the %ullowﬂlg literature of India ?
(A) Kannada Literature
(B) Telugu Literature
) Malayalam Literature
(D) Tamil Literature

mmmaﬁwmﬁﬁﬂ%ﬁﬁﬁﬁ
frg dRET QR H AW qGER wgird

Which of the following gallantry awards
was renamed as “Shaurya Chakra” in the
year 1967 by Government of India ?

(A) Ashoka Chakra Class-III

(B) Ashoka Chakra Class-I

(C) Mahavir Chakra b

(D) Ashoka Chakra Class-Il

et wREd w1 PRy g
(OPCW) H fre e TE 8 2

How many member states are there in
the “Organisation for the Prohibition of
Chemical Weapons” (OPCW) ?

(A) 203 (B) 195 (C) 193 (D) 194
frafafen o @ =% godE i anfieies

TR 2
(A) WerdTem ®) T
ﬁ_?ﬂf the foll o
ich o el
language of tl?a ﬁa?m ?m i nﬂi#al
(A) Malayalam  (B) Dari
{) Divehi (D) Dzongkha
g Freffen & A e T

TR

(A) HHER (B) ®ieeam
(C) Tiete (D) e
The “Pula” is the national currency
which of the following countries ?
(A) Myanmar (B) Botswana
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(A) afifes wet T Em gE-g0a 6 W=/
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(B) ﬁﬂmﬁm?ﬁ?ﬁiaﬁ 48 w1 SR
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" et
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A Nk AT S NVEom N = X
o- \B‘ 20 b 820 o i ot e 89 140 S
3’:\ JJ--—--...:___,H____ 4 L'/\@/d}x{{?;; 91.:‘;}0“ g‘},a}%é 1 ".',-ED ‘z’je" {Eﬁ@/ ";ﬁ‘;’
\“3‘41_45.&?“ e e e g --._._l.‘}/ V \bﬂ'% q..;ﬂiuq
AR #5391 1 9 1% Bz e N 2,5 PRI
T~ 37 QTF{g:m 2021 3k zugza;m:g 45. o Ful § FreE ©R, AT ®R AR T
ST ) N, v g v 1 it <61 Fasht <6 e s v 2 7
ﬁ) ﬂimm gﬂ\: T % BE RN L 5[& % ﬁlﬂﬂ' (gﬁ ‘q;ﬂ’ What is the total number of shoes sales of
Q. 4145 : The given I Y §©_Kolkata ;mrteﬁrz:ma st?_’re and Ranchi store
Chart sh ine Data ¢ together for years
ows the sales of shoes (in thoygr 1 o 2tON ;ﬁ (41650 (B) 1140 (C) 1820 (D) 1250

";;ﬂ B B Bl I G
L b R el
B, SRy
o 1 99 2021 Yt WR & At
11.\‘-'9 Iitga fafi & R ? w
b m is the ﬁn&f&vu%Mu of shoes of
e stores 2020 to averag
Hf/ afshwofal]ﬂ:estg:rforthuy::rzmlc'?ﬂﬁ
fA} 121/253 45/59
| C) 1221216 24/43 o_
¢ 42, 7 & fog e ﬁglﬁﬂw\\{g/ﬁf
ﬂ'f’ a§l & FrETEe @R H B fh |

b
is the ratio of the total sales of Patna

[V

\Q store for three years to the total sales of

Asansol store for three cyaars‘?
(A) 3061 551‘ 90/325 (C) 172/189(D) 380/640
43. W SR A @R R e fi ot |
LR EATAT o Sulbba
FZ sk Tt @R W PR $o e w
Iy Total number of sh?:ez gales on Gaya store
}tﬁ and Patna store together for three ca;':l l;:

y
i hat percent of the total
ni ﬁh’ml& and Ranchi store together

Y. 46-50 : T ¥% @ 9f= $E U9 (A, B, C, D,
3 E) afk gfe ameese a§9 (P, Q, R, S 3R T) B
gﬁ | TEET UT§-STE Weds et 9IY G W M
% witrera =1 Zrian @ @ ) $EE 9TEY U Ay
@ 9 # 3fit qE-=1¢ U IAIAZ IIEY
2R @t s o 3% % wfewa 1 gwiar & 9= g
HTITAZ YR U WY @i 1 # | 4
&% &1 3 qHan = 1000 T
wft 3792 I3y U Y9 @ieH W &F o
T = 2 e
Yl IITE TR TH WY Wi W &% F @il
H H 7 T = 1.6 e
Q. 46-50 : There are five inlet pipes (A, B, C,D
and E) and five outlet pipes (P, Q, R, S and T)
connected to a tank. The first pie-chart ts
the percentage of the tank filled by each inlet pipe
when all the inlet pipes are opened together and the
second pie-chart represents the percentage of the
tank emptied by each outlet pipe when all the
outlet pipes are opened together.
Total capacity of the tank = 1000 litres
Time taken to fill the tank when all the inlet pipes
are opened together = 2 minutes
Time taken to empty the tank when all the outlet
pipes are opened together = 1.6 minutes

wit ¥ wivem wrell ey o ¥ W e
Percentage of Tank Filled Percentage of Tank Emptied

for ;
% 23% (C)86.81%(D)76.75%
\ mfoi'isga(:);m %uﬁtaﬂtm 4. a2 IET A, B,D,R 3 S T T @
R R 0 s g 7 R e fo 0 ) 3 %) A T T e e
% 2022 & T ©NR e TR 3 T 'R &mmwﬁrﬁqi
n? mq_ﬁmﬂaﬂﬂﬂéﬁm’ﬁ?gs f shoes on. ja® N Find the lpproximmﬁmetnkmtnﬁu'
i %mm‘}mmmﬂ%bﬁm n’a mﬂkﬂ;fﬂpipﬁ&ﬂ,ﬂ.kams“opu
00071 is the average' shoes on Ranchi together.
% '“MM1mmdmdffa;ﬁr;§;W? ﬁ\(ﬁ‘) 9.2ﬁ;!;4minm (B) 18 2/ minu
03 % . " : .
THEY G oA 2 0a O weianen 015
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47, At sere wise 3t AEeee TR EE A | Q 5155 : Sdy the below
@ammﬁ@hwgﬁaﬁm answermcqucsunnsgwen oW A
m'ﬂm@ﬁﬂQI l Table 1 shows e : ;

[f all the inlet pipes and the outlet pipes are Import of crude ol 2 mml:mic in Production,
opened together then find the time taken to | Table 2 shows the percentage 2020 to 2022.
empty the full tank. Export and [mport of crude oil from "

(A) 12Fe/minutes (B) 8 fe/minutes | Study the \ables and answer the question - e

(C) 20F/mimues (D) 5 e /minutes | Note : Consumption = Production = 1PO 6

8 3% = WO s e ¢ g g g @ e/ Table 1 : ~
P 3 TTEY D g for g FE & A 3% / Country zeareA / Wfﬁﬁrﬂl
¥ = el w0 A A TRY R R | roduction EXpOrt =P
v 3R A T T QN R W % | i / 2100y, 600 | o
2 & e i I | A\ kA fghanistan % 1
Fid the ratio of the sum of the time taken | [gmeieat / 1200 | 400 | 300
by pipe C alone and time taken by pipe D ;1 ladesh N j‘.‘ﬁ* T
alone to fill the tank to the sum of the time Banglaccs L o 4007
taken by pipe R alone and time taken by T /Bhutan 2000045 8 =
alone 10 emp% the tank. ) ot /India 22004, 600~ 500 x _1%’
(A) 16:17 (B) 8:15 (C) 9:13 (D) 79 e Maldives 760 1o 500 1300 ] 1ov
4. e B 3k C 7w A I v & R v/ Table 2 W w W
g;‘:;ﬁq&ﬁﬁ? “t";“ﬁﬁ 7 Country | 3T/ | e /| S /
CPT Production| Export| Impert
(A) 2.89 fFe (B) 3.5 e e 0 5
©) 42fme (D) 167F% e T o
The time taken by pipes B and C together to Spisien 1‘\#
fill the tank is approximately how many 0/ 25% 24% 22% (
minutes more than the time taken by pipes Bangladesh 1502 | 496 16¢ | :
A, D and E together ? / Bh =0 et
&) 299 mines  (B) 3.5 minuts WZF /[ Bhutan | 25%°°| 25%] 20% ido
O} 42 minutes (D) 1.67 minutes WA / India 28| 200 15% 4)° 3¢
so, Y P 3 R N UF @ &% wreht A A ey / w% | 25% | 2% | o e
WWWWWQ.SWTWWW Maldives 668 115 ISae .
¥ wreh w0 3 forg Mo @wa @ goE w0 | SL 2020 # W ute Bl H W= e Y g £ 1
ghmu?wﬂlbcm f th s i | Es
e ratio of the time taken by | _ What is the i
pipes P and R together to empty the tank to '25 ol &t each G?ﬂwuﬁmﬁv m?‘w;én crude
the time taken by pipes Q, S and T together 5 A) 2200 ( ¥ FORER0 8 ?
to empty the tank ? (A) 2200 (B) 1200 (C) 2400 () 1680 24§
(A) 11:14(B) 5:11 (C)14:11 (D)11:8 52, 2022 % Wk ufe 3w # wt at it aftem 328
afere 91 %1 WHAES &t 3tk qu‘rgtw}n? '-"%
¥. 51-55 ; £2 AT Vhat is the average consumption of crude -
49 fog g A B IE ¢ oil in each of the five countries in 20227 IS8
atferer 1, 2020 3 § 29 & = 4w & I, Pt (4) 2054 (B) 512 (C) 1568 (D) 1024 ¢
st smam # guid 8, ke w2, 2020 @ 53. 2920ﬁﬁi!ﬂmmmﬁﬁa_mq
zuzzwﬁ'&atm,ﬁmmmﬁ U TR 7 =
gm‘uﬁﬁmﬁﬂtmﬁmﬁwmﬁ What is ' 65post to fmport ratlo of thie
3t el & L | o v ymtries togethet in 2020 7
A : @I = T + T — e \ ©) 13175 (B) 213/60
£ , : (D) 175/13
e \® "'*,,%0 \"to y 1}\_3“}-_ |¥SO 0D
"
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i e
-E&9q %sﬁ:'“"‘-...
A ——
EQ){‘EH SRIGR:E fwﬁ?a;ﬁm T
ATerery (B 1 ? ™
In 2022 ) SEMRRT E
consumpiion Tt (D) ey | [ B
msumption Tatio ‘was Highe e [
(A) Bh ing coun was hi import Sales fore ™
(C) utan tries ? ghest to of | con we) /T
M&Id' - amon Gy Milk centration he
55, ives (B) A 8 (After of wate
2020 § 2 @B:ﬁh tiHint 8_1.20% o ater In
mqmmz T T gladesh C 10% ';0,?“*)
Mgl Rren 3 o 3 e DT L2
(c] X 0 Tl F 30% 1%
1113: LISGE o e S 20% 5%
consumption o e i o 20w e
ich m 2 in the U o #
(C) Mal ollowing cc is highest one se, A, B an hall
| dives (B) Afghmﬁﬁ? con vessel  th d C mix thei
. 56-60 * (D) B anistan (a centration en what ir solutions i
T : Fefeea angladesh pproximat of milk b th would. . be in
i 3 AT (A) 8 ely) A the
& 14 i e solution ?
& U T 99 & A 89.65% (B) 75.2° ;
40% ©E 5000 R 12 IWE 57. @t D) T;.z,;,
o ¥ by £t 5
? (Ema
R Lt Heg i T vt e
mw‘a.m:ﬁ Wﬁﬁ, A B o (A) 456 (n‘;tﬂsﬁthﬂ?(awwa.saddbd
g1 B8 e # |4 ,C,D,E | 8. ) 469 approxima by
# F7 3TET-3Te I:ﬂ%ﬂﬂimﬁé sfe A 3R (C) 478 tely)
_ fosf) &1 W ] et = (D) 450
¥ &re gl 1 @ % g Zarielt R 3 qml.“" the differ # 7 (vmm) # .
Q. 5660 .g‘ﬁﬁmaﬁ?ﬁ*mm“ ey o s ot i
carefully an;;l tudy the followi (A) 73 #X ??(“Ppm Uz Pesson- A and
answ wing /i ximatel
Aksha hasﬁﬂwquﬂﬁmm .tﬂblg chart (C) 75/ g (B) 56%
sells 40% ny!: % 5000 litres of given below : 50, mm 2 litres (D) 65 m}hm
persons (A, B Ce total milk mpu:fe milk. He oo Ezm i T [titres
g:?.?“f‘”‘a‘rﬁuif' E, ) and te ot | Wmmwmfﬁwm
= h person, A, B E utilizes in his ;;Tlaming What' i the w8 7 F& W W
pure milk. Tl:l ,C,D, Eand F mi shop. quantity of w respective rati
sa-les ﬂf mIlk ¢ tablﬂ Eivm bﬂl mixes water total qmﬁtyalﬂ' added b}" p:m:i the total
Akshay as 2 to six differe ow shows the (A) 83 : 285 of water added by P G #nd the
also show Pcrcentage of nt persons by (€C) 3:17 (B) 3‘};451'5911]7_? :
adding s the con  total sales y | 60 Pt (D) 81:
water i centrati and 1t . 81: 28
M quanti m}'.ﬂlg the followi
- ? (D)C
]




.......-....._...-...._.,..-r-—--"""""'-ﬂ— .ﬁ -@zrﬂ “-‘mi =l
Ve i 1722 %,
aﬁﬁaﬁﬁwﬁamﬁﬁﬁaﬂtmﬁ 'i 65. ST O
el 3 v TR R ? | e (B) I
(A) T 3i T (B) were A (A) = (D) eI g
(C) = T e (D) S A HA ©  adari, OF L. WEE SV
Rigveda contains dialogue between 2 In 1722, the EJai Singh.
sage named Vishvamitra and which two to Sawai Raja (B) Amber
rivers ? : (A) Lucknow ) Malwa
(A) Che,ln'fxb a:l'nc(i: Eﬁmb () Agra (D
Sutle) an ena
E%]} Biasjmd Jhelum P i3 e e eC| q@ﬁ’rﬁ ﬁ a2
(D) Beas and Sutle) 66. &0 3 R IfE e ol G2 ‘Hiaﬂaﬁlq
2, e 0 g ¥ W, @ T AT o e PP A T e 4
WWW%WW*WJ T FE
eﬁ,ﬁ:@iﬁﬁmﬁﬁamﬁwﬁaﬁﬁm wmmﬁmfﬂl""
(mmﬁsﬂ)%mﬁﬁmﬂﬁ,ﬂqm (A) a7 PR
T TS AT il ERIEIN = § oot
(A) TS (B) EAW (B) e
(C) T (T @) 2 ©)
After Shivaji’s death, effective power In (D) =#. wﬁqﬁﬁTﬂ
Maratha state was wiclded by 2 family of Who among the followin had exhorted
Chitpavan B who served Shivaji s his colleagues to reaise that the
as Peshwa (O  POU £ Constituent Assembly was British-made
minister), which city became the capital 0 and was “working on the British plans as
the Maratha kingdom 7 e British liked it to be worked out” ?
(A) Noshik (D) Nagpwr (A) Abdur Nishtar
i o~ (B) Sardar Vallabhbhai Patel
63. WETENR gﬁmﬁwﬁ"‘; ; W R I (C) Somnath Lahiri
o, ° D) C. Raj alachari
(A) W (®) frn (D) jagopala
(C) wfke® (D) WEA ST 6. R 7@ iR Adee JEE 3 e
Mahavir, Swassi; e UERES F | T & AT T T FA % R Hu
“Jina"” “Jina” m !
(ilfmﬁfﬁod (B) The Conqueror l ¥ v Preforftea & fee aerifos @
(C) Non-violent (D) The great soul : 1 A T o 7
64, JafE 79 3 RreToral o Jeord fohan TR | (A) fegem aiftrafre fafers wEiee=
2 9 g § T A I B) T sfeaa =fm
R Wi ) e d F2Y | (€) T afma Jefrdeh wEfreem
ﬁmﬁ!ﬁﬁﬁﬁaﬂ?m FgFd 7 (D) | 9
(A) GavifTR (B) TeHrEr Chittaranjan Das & Motilal Nehru had
(C) e (D) Il formed which of the following political
As mentioned in Asokan inscriptions, there parties within the Congress to argue for
were five major political centres in the a return to council politics ?
Mauryan empire including the capitz (A) Hindustan ~ Socialist ~ Republic
Pataliputra and other four _provincial Association
ﬁ Egt)mscuvmgm ) Taxila (C) mw)' Presidency Association
(C) Indraprastha (D) Ujjaiyini (D) Swnr_ulj Party
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69.

70.

71.

4§ g WE % -
THITH ﬁ LS| ﬁ ng :‘[ﬁ e T2 R | e
(A) Tfdmg P/ forei & ¢ ﬂgﬁﬁﬁm%
(S%Z fr Eg; k] fermd ¢ T4 /Fgnfea wew |
hirui (Si .. (D) uf¥em @ (A) vffam &
Lilly fnul;gy%n]‘ﬂfl_‘?‘the only terrestrial (C) aﬁfgmw (B) i
states of India ? ich of the following Bandel ¢ (D) g8t
(A) Manipur (B Dot i g by
(C) ‘Tripura D) Assam followin m:s located in which of the
. (D) West Bengal (A) Wgsng tes/UTs of India ?
FOW F1 I8 R w1 O otie o MCaE
mmamﬁmﬁymw (D) Puducherry
RO SR Wi ;tammaq 73. 3 ver Wi % P
(A) Hershel B) T (C) e (D) We4 SeH
(C) A (D) =R “Oriya Plateau” is situated in which
Where was the session of th the following states of India ? i
Nepptieg ol et o IR C e e
e ﬂ;&:i:m:;mgg:t ﬁtaher leaders about (C) Maharashtra (D) Madhya Pradesh
e b g a mn omeion L 16 0 SRS L R R A
as swaraj ? well 3 Tt 1 1 HAN A7 CE)
Eé; galﬂuutf_a (B) Bombay (A) e AT
agp (D) Lahore | (B) - A ()
P 3 & 9 et fagwame 77 (C) 2ftn-fm = g (TER)
e T 3 R ATeHTE WM % AW § (D) T Ty TRE=
oft ST AT 27 What causes rainfall on the coastal areas
(A) T S e A GE T
(B) &ac HER TH (A) Temperate Cyclones
(C) @M A TFRR G (B) North-Eastern Monsoon
% @ll;laan?hm:frbllnwin was th () S A
0 ong the g e Local Air Ci :
fnunde;'l ufhmc “Kh]l.;dai Khidmatggrs" (D) Eocal Al Cireissen
and is also known as adshah Khan
*A) Maulana Abul Kalam Azad LT I Y 5 g
(B) Syed Ahmed Khan A) T
(C) Khan Abdul Ghaffar Khan (A) e TR
(D) Hakim Ajmal Khan (B) trﬂ;u;g;m A9
. (©€) (et ‘
1913 ey W w FE (D) ¥ Tiree I
= — anl foeetl Which of granite 18 found in Jalore
(A) el (B) district of Rajasthan ? -
(©) dawitret (D) SATEN , (A) Black Granite
The  Hindustan Gadar Tirely (B) Rakhee Green Granite
h was located at — g ey (C) Rosy Pink Granite
cutta (B) De (D) Merry Gold Granite

(A) gﬁ ' Laho
e o @
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(A) Cabinet
s f Marketing and

B) Directorate 0 arketir

& Inspection, Ministry o_f Agriculture

(C) Commission for Agricultural Costs
and Prices

(D) The National
Kanpur

effe § @ @ W TH WRAE AW

s g g U @, s
-ﬁw-wmﬁmm’(wiﬁ)

Sugar Institute,

77.

(B) WRd™
(C)qmﬂmaxﬁ:ﬁw _
(mmﬂm@ummm

Which of the following is an Indian
Labour Law and Social Security measure

aimed at guaranteeing the “Right to
work” 7
(A) The  Payment of  Wages

(Amendment) Act, 2017
(B) Indian Institute of Management Act
(C) Citizenship Act
(D) Mahatma Gandhi National Rural
Employment Guarantee Act

gl it Wi ¥ Prafafea 4 & 6w
i & 3 forsprm % forg e ® 7
() FgfeTan eI (g) AT
() foered e (D). 3Te IeTed
“Golden Revolution” is responsible for

the development in which of following
agriculture sector in India ?

(A) Petroleum Production
(B) Horticulture

(C) Oil seed Production
(D) Potato Production -

78.

MW-—

13

ey s S T AR -urlu-.-.n-—ni—nlll e

oy e e o (FRE) R |

|

|

19.

80.

81.

- (A) Section 135

-'-”.llﬂ Lo

of Insurance

Where 18 Authority

Regulatory &
located ? :
(A) Chennai . (B) Mumbal
(C) Hyderabad (D) New Delhi

ﬁuﬁﬂﬁﬁﬂaﬂamfmﬁﬁmﬂm
T WHR G & 7

(C) ez - s AT
(D) o1 &Y (S THIHEH)

Which of the fulluwmr? is not a type of
Depository Institution |

(A) Commercial Banks

(B) NAB.

(C) Credit Co- tive Societies

(D) Loan Association .

T W AtEE, 1947 %

B % WY YA UF AR 71 TR 3R
s fudEw 4 YRE G@R
wftfam, 1935 6 fra g/ % wEuEl %
TEG 1947 ® 1949 T HTH €91, 7
(A) U 135 (B) w100
(C) W 130 (D) =T 101
With the passing of the Indiar
Independence Act 1947 India became ¢
Dominion and the Dominion Legislatur
made laws from 1947 to 1949 under th

rovisions of which section of thi
overnment of India Act 1935 2

(B) Section 100
(D) Section 101

-

(C) Section 130
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W I e
e 3 P AW Famy T ——
Fzah HEH 3 Frram g R | 86, - P o
TR RE | ey o A9 W 1 e e dge
(B) Serhen I=1 =marery S ®) i [
(D) ﬁ?d’r:ﬁ-w” i i of the fllowin i the nly Dwvr
Name the high co (A i the inner Solar System?
ove g urt that Rag i } Pluto i
r the Unj .ESJunSdlcﬁﬂn C (B) Makemake
Anda on  Territ (C) Haumea
man and Nicobar L] ory of the | g _ (D) Ceres
(%J—'I‘hc Madras High Csﬂand:;. 7. EREE way § P d 4w
C) The Calcutta High C:l't (A) I8 vaETe o wHhE 7
(€) The Andhra Pradesh Hig e G | sl
(D) The Delhi High Court B Lo (B) Nﬁﬁﬂﬁﬁ%it |
|
_ T 738t 3k 743t GAuE & v e d |
e T o Tt 7 w;j?q*“*mmil
kel AR P el
© , 1973 (D) F9, 1952 (A) It prevents the invadi
Wh rd * ; invading pathogens
hen 73 and 74" Constirutional into the trachea.
ﬂl‘lfgc‘._ndments were passed by the (B) It houses the vocal cords.
Parliament of India for the existence of AC) It is an organ made of cartilage and
Panchayati Raj Institutions ? connects the pharynx to the trachea.
Eg))mnbﬁ’ 1992 (B) October, 1973 (1 158 homy el
December, 1973 ’
(D) November, 1952 88, i 31T AT fRe TR R B 7
g5, = 1928 # Arfrem ew @hfa g (A) T (B) T B
e § & @ @ srfufem/fes f:i)lk““"‘ e (D) ¥
e feba T 917 A) iiwm“i“hwnfmﬂnid?
(A) mﬂg: ST AU (C) Emulsion EE’) g
m)m’?i g9, Frefefes & & ® @ writw v
(©) fiw sy g e T R ST 3t e 2 & 7
Dy, Sl o N W A (B) W
Which among the following acts/bills . o
(C) Wt it
were proposed by the Motilal Nehru | (D)
Committee in the year 19287 Which of the following organic
(A) Criminal Tribes Act f}fm;uc;md g;sﬁﬂtcs the protoplasm in
(B) Ilbert Bill B 7 s L o
(©) d Aviation Bill ethanal  (B) Methanoic Acid
(D) Bill of rights (C) Propanone (D) Ethanol
MM- S i s a1 S
14 °



way . ~ 2 r 8- g Tk
2 st "R S 1) 002 __~ 6 =5 _f___ -
woor ot Be T it R iy
------------------------------- | g5, feem A =it # foret W 4 F
0081 _ 0484 25 iR : i 15% 3 o TR T HN
90. X #i o a8 25%
00064 625 3321\,1 R yi’nﬁﬂqmﬁémtlmm:ﬂﬂ
0. - o 0/p THEAE T IIED
Square root of T R 2“13 il};’&ﬂﬁ A fee -q-;% 57
(A) 0.75 (B) 0.45 (C) 0.53 (D) 034 27 4% of her monthly salary
91 g-! _glyls {4-1 _9—1)—1 -q;[m:lt : Divya apcndﬁ 2@,{ unthﬂ education of her
i, 131 (a1 =91y s on food and 157007 " 2 ¢ o~ calary, she
The value of (87 —97')" +(4 ) children. Of the remaining and 20%
L&) zﬂqﬁg . g%i?iﬁﬁ spends 25% on Eﬂtﬂwmt left with
92. fagan Geen) ! = ? on conveyance, She 13 ?1‘:11:;}’ salary of
Wﬁﬁﬁmmﬂaﬂﬁmﬁmﬂlﬂ : ¢ 10738 WEx B ARSI
7 eliin T g I Dﬂy: ;u (B) 32,0001 19
E%E (C) Tttt (D) AR ‘ 500 (D) ¥ 30,200
| Which of the following acids is present (©) Y32, 27
> L\ in the stinging hair of nettle leaves 7 e ﬁﬂﬁmﬁﬁ"ﬁ CIC]
) (A) Oxalic Acid (B) Methanoic Acid { 96. mwwﬁq-;q 7 |
(R (C) Ascorbic Acid (D) Ethanoic Acid {(;; e BT At & |
g3, iefs-pidts 7 & A # wfa & e (@) T3 1A 9T § T g 1 |
8 “ﬁmﬁm%mﬁmmﬁ (D) v ¥t 379 , 79 et |
T Ly afd | g 10 FECH AW |y 35 e Pl T R 7
l’f%tﬁm,%mmaﬂmﬁ%m {A)TF“"!;% (B) Aftweiren T
T 55T | ¥ W SR 10 A I ©) whimeg (D) AT 9
“’%"? free 5.5 3 T A 10 HHA | g0 proferfm § & frw fasea # fem-am
. e wget 7 W TdE T | o A S % qETER 7
BN for e st A @ R 7 (A) Forgen - qeTE
! In the England-New Zealand one day (B) 3Hraeh- HHH
) match. due to rain, England needed 324 (C) TThE — WEER
3 runs in 48 overs to Win. Inmigalbullﬂhf"nf;-t 9) slatee - IR
1 raiewas 3 'y " ]
e i increased to 8.5, It then declined | 99. g e & @ R T’ et
0 5.5 in next 10 overs and again rose to 7 i fdawne 7
in next 10 overs. To win the match now (A) mmﬁ[q@gqﬁmwt|
what average is needed ? (B) Brer s wen femman s R |
%;; ;;: @wmﬁﬁmmﬁﬁ
i feamd |
(C) ¥t @ %% 1/ None of these (D) @lﬂmimﬁ! W o % qm
(D) 675 - P g '
04, PreffEmddFR@mARAFTAER? | 100, Prfefen # & frm fame # ot 7=
Which of the following is in descending Wﬁ ?
7 A) YA, TR, HEIOT]
'mm; 11/17; 5/8 EB% HeR, 9Ter,
(B) 318 9713 1147 (@) e, sftrao, frive
o) 1117, ) | g -
(Dﬁ 5/8; 11/17; 9/13 il —
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